R#ETFAL #HE BHEOSIZE 03

RD ZI0 k. (SH12F, A18F, B# 25, C#30% )
(1) -3=3 (2)  5-— =5
(3) 11— =4 (4) —1=9
(5) 14— =9 (6) —11=12
(1) 17— =38 (8) ~8=10
(9) —24 =18 (10) 100 — =25
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(3)

(5)

(7)

(9)

11 —

14 —

16 —

20 k. (SH128, A18F, B#k 25, C# 301 )

—-2=2
=6
=38
=9

— 17 =28

(2)

(4)

(6)

(8)

(10)

9— =1
—4=6
—13=12
-5=13

100 — =32

© Bef - BEE L &7 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

REFAN HE BEOIEE 03 REED

RD 290k, (SH12%, A#18%, B 25#, C#30% )

K SEOWE "R—/h=/"h) & TR=/NI4+/AI) D4 X=

(1) 6 |—-3=3 2 5-|0]|=5
* SIZEHDEENE ULEDH * S ZEHDFEENS|ZHDA
3+3=6 5-5=0

WH EEOFEREIRLE L EI2E S v

DT CaIE BB D39 .
3 11-|7|=4 4) 10 |—-1=9
11—4=7 9+1=10
(5) 14-|5]=9 (6) 23 [ —11=12
14—-9=5 12+ 11 =23
(7) 17—-|9|=3%8 (8) 18 | —8 =10
17—8=9 10 +8 =18
(9) 42 | —24 =18 (10)  100—| 75 | =25
18 + 24 = 42 100 — 25 = 75
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(1)

(3)

(5)

(7)

(9)

(2)

(4)

(6)

(8)

(10)

RD

4 |-2=2
* SIZEHEDEENEVLEDOH
24+2=14

11—]5 =6
11-6=5

14—]6 |=8
14—8=6

16— 71=9
16—9="7

45 | — 17 =28
28 + 17 = 45

© B

20 k. (SH128, A18F, B#k 25, C# 301 )

9 —

=1

10

6+4=10

25

* 5| ZHOERH5|I RO
9-1=38

- 13 =12

124+ 13 =25

18

-5=13

13+5=18

100 —

68 | =32

100 — 32 = 68
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